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Sample Questions

ARFFEA ATHGE -
THIS QUESTION PAPER CANNOT BE TAKEN AWAY.

AFEFERE - V77EREEE - SRI2EERA TREWEUNER -
DO NOT turn over this Question Paper without approval of the examiner.
Otherwise, contestant may be DISQUALIFIED.
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All answers should be written on the ANSWER SHEET.
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Section A — each question carries 4 marks

1)

2)

3)

4)

5)
6)
7)

8)

/NEBER[EI5E - i A] DUBER AT B AE B E 05K - EFEEREEZEER 2 FREs4R ~ B EEH
XA 3 RESSR - EREEIRA 4 fRESER - R/NHEE 2/ DR 4R [EI5¢ 2

There are two approaches for Charles to go home, either he directly goes home or goes home via the
library. If there are 2 routes from the school to the library, 3 routes from the library to his home, and 4
ways to go home directly, how many different ways are there for Charles to go home?

817 + 22 DUESR NP R0 -

Represent 17 +22 in recurring decimals.

K 2016%1984 [y1g -
Find the value of 2016x1984 .

INEIEHE—HUER - BHUEE 8 JT - EE PR NRIECU ISR - EE SR T HIRE
SR S A& 400 T - SRESHEMERAVER -

The confectionary sells some candies at a price of $8. When half of the candies are sold, the cost are
covered; when candies are sold he has a profit of $400. How many candies are there?

~ FisE ~

~ End of section A ~

AR AERER - Bt EERET R HEERM - WHECR R BEiT T8 SRt RS RSN -
BEFEADIRAFTTR - Wz iR AR R - BRSNS HAL - SRR A G TR %L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.
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Section B — each question carries 5 marks

9)

10)

11)

12)

13)
14)
15)

16)

/INEE > ANFESE 20 {E/ NI R 3 ESANEEEE - AREOR/ NS NEE iR D — A—E S0 0 [
HZ/DRAFENITE?

Among 20 students including Lan and Wah ,3 are chosen to join a competition. If at least one of Wah and
Lan has to join the competition, how many different ways are there to choose the 3 students?

3K 0.36+0.296 M » Wi DA T B RE S

Find the value of 0..;> é+ 0. 2 96 and show your answer in fractions.

. 38 121 125 25 5 1
KA9—+4—+—+—+ + HIME -
K 63 126 252 504 1008 2016 JiE
Find the value of 49§+4121+125+ 25 + > + ! .
63 126 252 504 1008 2016

FrEIEREA T it R o IS 60%MYEARER - EEL TE T 60%% - KT RFEE
JELE T (e - B e emBiElEEEIRENRES D ? L% RREE

A shop buys some food and mark the price at an expected profit of 60%. After 60% of the product are
sold, the shop sold the remaining product at half the price. What is the percentage profit of the shop
selling this food?

- 25 ~

~ End of section B ~
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All answers should be written on the ANSWER SHEET.
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Section C — each question carries 7 marks

17)

18)

19)

20)

b o T RS S BRI IEE & 54 oK - AR 25 EORAVHZ - RITRSHVIEAEAY R &—(EE
£ 36 EDRIVIETTIE - Rt e I8t ERCEREN - fRITIRIEEEE AN HIRYRE - 241
R RN AR EAETRED o CREAEA RIS o (OO ECRRREE)

The figure below shows a cubic container whose inner length is 54cm containing paint with 25cm deep.
The base of the iron cuboid is a square with side length 36cm. The iron cuboid is inserted vertically into
the container until the base the cuboid reaches the inner base of the cubic container. It is known that no
paint is spilled and the cuboid is not fully submerged in the paints. Find the area of the cuboid in paints.
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Question 17

FE S BHTy - U6, FHPSFERS A SHHVETE - 55 %/ rdtg - 16, FE KM Rt
st 2 (LU BERRER)

At certain minutes past 5, ‘6’ on the clock is at the middle of the minute-hand and the hour-hand. How
many minutes later ‘6’ on the clock is at the middle of the minute-hand and the hour-hand again?

~ 2E5E ~
~ End of Paper ~

AU AEREE - Bt RERETE FHLERfE > WHER BETBEGT 78 kTR RSN -
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BEFEADIRAFTTR - Wz iR AR R - BRSNS HAL - SRR A G TR %L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



